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SECTION-A
(Reading Skill : 10 Marks)

Read the following passage carefully :

A. P. J. Abdul Kalam was a multifaceted personality, a statesman and
visionary and above all a good human being. He was a brilliant scientist
and modern thinker. When I joined him as Press Secretary after ten days
of his becoming President, at his very first meeting he gave me his visign
of a developed India. He spoke of how he wanted to make Rashtrapati
Bhavan a people’s place where voice of the millions of downtrodden people
of India would be heard and action taken. Indeed during his time Rashtrapati
Bhavan became a people’s place and he became popular as People’s
President. He wanted that institution of the President to be totally identifieq
by ordinary people.

President Kalam took his Presidency seriously from day
comfortable with constitutional and legal issues as he was with
He was committed to nation-building and created a vision do
India a developed nation by 2020: He made a
senior ministers and bureaucrats on this.

He used to make powerpoint presentations at {
~ both in India and abroad to discuss that vision o??{gg: C}?S and seminars

himself and he was very particular about every word and S:enf used to work
He did it during his visits abroad and while meeting L

US President George Bush and Pakistan President Pervez M .
he presented his vision of India’s nuclear energy requiremen?Sharaf. When
and his vision of a joint fight India and Pakistan could wage g S to Mr. Bugh
the respective Presidents commented that they had to becomgams.t Poverty,
understand the presentation. You can’t think of any other Preside?xtsc?il' Zn;;Ststf;

un

one. He was ag
school children.
cument to make

Powerpoint Presentation tq

dignitaries sych as

who would have done that.

His vision for the nation was based o ; 9L,
individual and justice, social, economic and ;lol?tqil;aajhtfé ;};e dlgnl.ty of the
then can India succeed and everybody sing the song 0} Indiae?{ Indian. Only

I met him last on July 22, five days before his demis ,I € Used to say.,
one meeting that lasted a good 40 minutes. He was fug] ef- twas 5 one-on-
very active and discussed different subjects. He used t Ol ideas a5 always
you do, do differently. Wherever you work, leave a mary 0 ] “WhatEVe;‘

During his presidency he was alw and be rep,

the Office of Profit Bill, 2006 aft
Parliament, and when he had to approve th :
Elected Representatives in 2004 ag it was Z;;?T
second time.

He was an icon for the youth He us
. ed tO Sa Wape 3
Youth should have the courage to thinl differen¥fy Aiming gy is a crj
paths. Difficulties would come by don’t be afra; and explore 1y, ime.
with your intellect and hard work » aid of them__wel_c €xplored
3 Ome them

cond tim

ance on Djg : A
0 him by thgléaléﬁcation of

The man who pioneered India’s missile programme was always proud of
his work at the Indian Space Research Organisation and other scientific
institutions. He used to believe that a scientific approach could find a solution
to every problem. '

He was an ardent secularist, and also a religious man. He believed that

all religions are like beautiful islands; but there is no connectivity between
them. We should strive to achieve this connectivity and transform religion
into spirituality. For him religion and morality were the same.
: A man of vision, he always worked in mission mode. He had a fnission to
meet 10 lakh students and interact with them. He completed this when he left
Rashtrapati Bhavan. He continued with this till his last breath. His childlike
simplicity was an instant hit. ; '

He got the sobriquet of being the People’s President because of his
humility and accessibility. President Kalam always worked towards building
consensus rather than ramming down decisions.

He camie from a modest background, but educated himself and worked
hard to rise to the top. He was simply the missile man whose books were
prime-sellers, whose lectures were always housed full. He was adored by
children as he would give them easy-to-digest messages.

On the basis of your understanding of the passage answer the following
questions :

(i)  Which of the following traits explain in a single word the many qualities
of A.P. J. Abdul Kalam ? 1

70 Brilliant scientist
2 Visionary

s Statesman

4. Multifaceted

(i) What was so special about A. P. J. Abdul Kalam that no other president
could do ? i

(iit) Which of the qualities made him loved by children ?

(iv) What were the bills not passed by A. P. J. Abdul Kalam initially ?
(v) What was his mission ?

(vi) What is the antonym of ‘modest’?

RN N

SECTION-B
(Advanced Writing Skill : 25 Marks)

As the Secretary of Debate in Mayong Anchalik College, write a notice for the
students interested in participating in Inter»qulege Debat_e Competition to be
held shortly. Mention the deadliqe qf registration, the topic and sign yourself
as Juktiman /Juktimoni. (Word limit S0 words)

NGL i



~ OR

You are Barun /Birina who had lost a file folder containing important

documents in a bus going towards Lumding. Get an advertise i
in the classified page and promise the finder g reward. i pubhsheg

You are Roshan/Rohini, The General Secretary of Mer
Tezpur. Your school joined a campaign organized by v
city to create awareness among people t
100-125 words highlighting the activitie

tyland Public School,

arious agencies of y

our
0 conserve water. Write 5 report in
S such as rainwat.

10
OR

Your school has organized an exhibition-cum-g :
students in their work experience classes, Yoalielfidth;nltems Sade by
overwhelming response from the parents and the visitorg Th “xcellent and
sale have been donated by your school in a functiop t;; Helplljoceeds of the
organization supporting the cause of orphans. Make it Oetp Ine India, an
100-125 words to be published in your school magazinep r't of the same in
; 10
Regional Baghdevi College, Sipajhar has published the Advers:
post of Music Teacher. As Shahnawaz / Shahnaz Sidd; _EIf‘tlsement for the
write an application, along with your detailed resume, to t}c11ul rom ‘Naobaicha,
of the school. ! ¢ Managing Director

OR 10

As a conscious citizen, you have observed gradual
concentration among the selfie-freak youngsters. Write

loss of focys and
of a local daily showing your concern over the issue

a letter to the Editor

measures to curb the e-addiction. and T€Commend SOme
10
SECTION-C
(Grammar : 20 Marks)

Change the form of the narration of any two of the fOIlowi ;
118 sentenceg -
(a) M. Hamel said, “My children, this is the | 2x2=4

The order has come from Berlin ast lesson |

to te Sha]] o
of Alsace and Lorrain.” s erily Germa_n i =€ You.

(b) Aditi asked Raju if his sister was at home, Ry; :
not. She had gone shopping with their mothegrl? replied that she wag

(c) He said to me, “How
stay for a week.

34T ENGL [4]

er harvesting etc, -

N the Schools -

6. Change the voice of any three of the following sentences : 1x3=3
(a) She likes sweets.
(b) The man narrated me a story.
(c) Who will bell the cat?
(d) Don’t spread the rumour.
(e) The baby is being taken care of by the maid.
(f) The tree has been uprooted.
7.  Rewrite any five of the following sentences using the verbs given in brackets
in their correct forms : 1x5=5
(@l YOl R (go) to attend the party tonight ?
(b) If you have gone there, you ................. (meet) the celebrities.
[c) ' Donilt hnger,iWe ... (run) out of time.
(A} ~They,... oo (finish) the course by next month. _
(B)i " PH m = SO (snow) many times every winter in Frankfurt,
(] - «Janicy XURENNE. (wear) her blue jeans today, but usually she wears
a skirt or a dress.
(@) Millegdi s S .... (be) white.
(B) 1 orniniies (do) a lot of work today.
8. Rewrite any four of the following sentences. filling in the blanks with
appropriate preposition : : 1x4=4
(@) You can place the book ................. the table.
(b) The Second World War broke ................. on 1% September,1939.
(€),.1 Hejisi fondy s e an: chocolate. :
(d) Patriotism consists ................. the honesty of service.
(e) One should not be blind ................. one’s mistake.
()  Hitler took advantage ................. jingoism.
{g) I have full confidence ................. your ability.
9, Rewrite any four of the following sentences as directed : 1x4=4
(@) 1 know his birthplace. (Turn into simple sentence)
(b)  If you do not study hard, you will fail. (Make it a compound senternce)
(c) He leads a most unhappy life. (Turn into exclamatory)
) : recious as gold.
@ Ve o g(Change it into comparative degree)
® (Make it negative without changing the meaning)
() Who does not wish to be happy ? (Make it assertive)
(g) Though he was poor, he was happy. (Make it a simple sentence)
34T ENGL [5] Contd.



- SECTION-D
(Textbooks : 45 Marké)

10. Read one of the following extracts and answer the

(@) And such too is the grandeur of the dooms
We have imagined for the mighty dead;
All lovely tales that we have heard or read;
An endless fountain of immortal drink,
Pouring unto us from the heaven’s brink.

(i)  Name the poem. ‘

(ii) Who are the ‘mighty dead’ referred to here ?
(i) What is the endless fountain of immort
(iv) What does the word, ‘brink’ mean?

OR

(b)  The little old house was out with a little
In front at the edge of the road where th:;1 i\;va;}ied
A roadside stand that too pathetically pled FReck
It would not be fair to say for a dole of brea;d-
But for some of the money, the cash, whoge ho
The flower of cities from sinking and Witheringw RS Lports

' faint,
() ~ Where was the new shed putup ? Wh §
(i) = Why does the poet use the word ‘pathetic’s

questions that follow :

al drink ?

— = = e

at was itg BUTpose 208 ] — o

(ii})  Explain : ‘too pathetically pled’ .
1
11. Answer any three of the following questions in 30-4¢9 word .
. - ; S 2x 3:6
(i)  What childhood fear did Kamala D f i
Eideins as reler to in her poem ? Yoy did she

(i) In the poem, ‘Keeping Quiet’,

what is the appeal mad
(i)  What do the parting words of i

by the
the poet and her smijle s Poet ?

(iv)] According to Pablo Neruda h ; gnify ?
moment ? » oW would keeping quiet be an exotic
(v)  Describe any four things of beaut i .
Beauty’. = Y eRRonediin the poen, o Thing of
8 0

(vi) Why is the longing of the roadside stand people called
(S

hildish »
12. Answer any five of the following questions :

(a) Who is Savita ?
(b) Who ask-ed Franz not to hurry to schoo] ?
(c) Where did Gandhi meet Rrof i,
(d) How many times did Gandhi m
(e) What animals did the author d

B. Kripalinj for t
eet the Lt. Gover
iscover in Peaco

he first time 7
nor ? '

¢k Islang »
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1x5=5

13.

(f/’ Who is Derek ? -
(g) For whom did Sophie want to get Danny Casey’s autograph ?
(h)  What did the peasants pay the British landlords as rent ?

Answer any five in 30-40 words : 2x5=10
(@) How was M. Hamel dressed differently that day ?

(b) Translate “Viva la France” into English. Where was it written ?

(c)  Write a short note on the significance of the title, ‘Lost Spring’.

(d) How was Gandhi able to influence lawyers ? Give instances.

(e) Explain the statement : “The Battle of Champaran is won.”

() How did Sophie’s father react when Geoff told him about her meeting
with Danny Casey ?

{g) How does Saheb’s life change when he starts working at the tea-stall ?
(h) Who was John Rowntree ?
(i) What information does the author give us about Manas Wildlife

Sanctuary ?
14. Answer any one of the following questions in 80-100 words : 5x1=5
(a) Describe the condition of Seemapuri. .
(b)  Jansie is just as old as Sophie but she is very different from her. Bring
out the contrast between the two friends citing relevant instances from
the story, ‘Going Places’.
(c)  What were the topics and subjects taken up by M. Hamel on the day of
the last lesson ?
15. Answer any one of the Vfollowing questions in 125-150 words : Tx1=7
(@)  Write a character-sketch of either (i) Tiger King or (ii) Derry.
‘ OR
(b) How did Zitkala feel on the first day in the land of apple ? What did she
do to escape the plight ? ‘
16. Answer any four of the following questions in 30-40 words : 2x4=8
(a) Define Domabhi.
(b) How do the Kacharis observe the ritual of Magh Bihu ?
(c) Why was there no curtain in Lamb’s house ?
(d) 1Is the Tiger King a satire ? :
(e) Which words of her brother made a deep impression on Bama ?
(f)  “Tin doesn’t hurt, boy.” Explain with reference to context and its speaker.
(9) How did the hundredth tiger take its revenge upon the Tiger King ?
L8
34T ENGL [7]
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PART-A [/ F—93d
1. Answer any four of the following questions : 1x4=4 |
oS [l eRERT Rerer bifkoe Ted f ¢
() What is intermediate good ? _ \
TGS wTy e & gt e
(@) If MPS = 1, what is the value of MPC ?
T MPS = 1 28, MPC ¥ 319 19 2792
(i) Primary Deficit = Fiscal Deficit — s (Fill in the blank)
e S = - | el
(w) Which one of the following is not a quantitative ] !
measure of the central bank ? ; credit control |
O (PITCO] (P @5 ARRIDE el e a2 7 |
(@) Bank rate ' L
\ (=P 29
(b) Open market operation
(ATl @ elfeE |
(c) Variable reserve ratio
ARSI ATwS Ao Tairs
(d) Direct control \
2o el
() Write one merit of flexible exchahge rate,
A {fwm 2ee @b JRa B
(vi) What is GDP deflator ?
GDP )(los 52

2. Answer any five of the following questions -
U S Ry Swhg ed
(i)  Differentiate between capital expenditure and r
T 3 W Az A A =i B Al R
(i) What are the components of high
PRSI e TAMITTE 5 e
(@) What are the transactions that are ;
of balance of payments ?
W@wwﬁﬁ:ﬂ%%%ﬁm%h
' Ao
(iv) Dgﬁne bersonal income and personal disposap :
&M A w1 Afere WY = A fovan

2x5=10

~-Powered motley .

ncludeq in {
1 Pita] acc t
oun

€ inCQme

34T ECON [2]

(v)

(vi)

As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the value of the
multiplier.

ffcel 125 @i 5501 3fEs e Gisla @im 500 b b 3% 27 | @ T
fefa =4 | '

Distinguish between stock and flow.

TGS W 21T eS A2 el I

(vii) Write ‘any two implications of revenue deficit.

ez wifoq R 7o @R’ il

Answer any two of the following questions : . 3x2=6

(i)  Write any three limitations of barter system.
R 2" R OMG SRjRal S 4 |

() What is balance of payments deficit ? Write two causes of balance
of payments deficit. :
ARCAIE FFToR =i (57 2Riiag ol 9iivs 767 T S <=1 |

(i) Write a short note on :
Autonomous and Induced Investment.
53 (Bl fralt ¢
FoF IS wferee st

(iv) What is a government budget? What are the components of
government budget ?
BRI G 52 5P AcEsy SAMATR & e

Answer any two of the following : - 6x2=12

OoTe HPTRA [CPlCAl 7bIT ©wd T o :

(i)  Discuss the motives of demand for money ? What is liquidity trap ?

; S+1=6

JuiF SifENR SCERPRE SiEma 6| OiRey FW B2

(i) Briefly discuss the income method of calculating national income.

From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
ST S Sl T4 S ARSCh! 5 @l T | OF R O FRws IE19
VES 5 GO GeAMA Slel 41|

(in Rupees crore)

! (=I5 B=re)
(i) Mixed income of self-employed 400

Ffiee e NiEe wim
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(iii)

(in Rupees crore)

3 _ (I o)
- (1) Compensation of employees B
TN Wl wiozmd
(i) Net factor income from abroad (_20
. RorR s[ @Rt Fes uim !
(iv) Net Indirect Taxes (F5 #rrs F9) 100
(v) Consumption of fixed capital ' 120
9 Fga Seirels) .
.(vi) - Profits (7I®) :
(vii) Rent (&) 0
(vii)) Interest (3%) 0o
150

Discuss the functions of commercial banj

M @3e TR ST 1

(iv) Define aggregate demand and aggre ;
S gate
following table and determine the equilil:,riuill1 12‘113;:‘1 c;t)mpletve the
of income -
PR IR Sl AT AR STt B | oo e 20
SIS i 4 2 ' R e e iy
Aggregate Consumption Savings Inve
st N
Supply A Aggregate
AR ol Cofretal T Rifzis Demand
(AS) (C) () ) MRESRIE!
900 780 | (AD)
800 700 W\“————————
700 620 '4\0\\*d
600 540 i o ————
750D 460 5 e e
400 380 s e ——
300 300 [ a— T
200 220 S e S ————
[ 1007 S ik [ L
= Answer any one of the following : P |
ol LI fewizay wbre T i g 8x1=8
(i) Whatis fiscal policy ? Discuss the impact of o1
expenditure and changes in taxes op equiliby; 8€S in govern t
Um inCO men
e,
mmﬂﬁﬁﬁﬁlﬁﬁéﬁ$?ﬁﬂaﬂﬁﬁﬁmﬂaw%$$ssa¢ﬁﬁ
BIkE| *IfRare 2+3+3=8
oi@id SCEB =5y | S e

34T ECON

[4]

(i) Explain the determination of exchange rate under flexible exchange

rate system.

sifadaie [T 29 Iezge [ 3= FdRa 39@ o=

(i) Write short notes on :

53 (Gl feral 8
(a) Demonetisation
[RELEEl

4+4=8

(b) Fiscal Responsibility and Budget Management Act, 2003
ST WIfg TR S IACEE ARG =2, 2003

PART-B / 49—

o WETARE feic bifebi e faal ¢
(i) What is underdeveloped economy ?

S Seifs e [ g@ie

Answer any four of the following questions :

1x4=4

(i) In which year World Trade Organisation (WTO) was formed ?

fo <ifden ikl (WTO) (i 5o 9107 (Rfee 7

() Write the full form of SHG.
SHG 7 513 =ef forall | _

(iv) Write one objective of NITI Aayog.
NITI SCISH 95) Sy faall |

(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(¢) milk production
(d) agriculture production
G 7 Sibs s —
(@) T BoAMET (0D
(b) WY TeoAME (e
(c) W% GolMas 3TCe
(d) FR CeoAWE e

(vi)  Define privatisation.
Jlearesad kel |

7. Answer any five of the following questions :

IO e o e Go B ore o (o 798 ACICE BT E I

(Choose the correct option)

(% R {519 1)

2x5=10

(1) Mention two non-institutional sources of rural credit.

ST AT 75 SHRIES Be SrEd 41 |

34T ECON [5]
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(1)

(iii)

(iv)

(v)

| SIS wRifew LPG Tfew 7oy

(vi)

(vii)

Write two long-term goals of Five
SIS ARRT AR 75 Ry

T oy |
Mention two ‘types of unemployment Prevalent ; _
sector of India. In the agriculture

WW@@%@EﬁVWﬁWW%ﬂW|

What is the importance of green  revolyti i
_ o
agriculture ? R e

SIS $RAGe CIew Rem oy
Write two positive effects of LPG policies in t

T ey foyay
Write two merits of globalisation,

CNeTR == 767 Rt Bzl a0 |
Mention two objectives of disinv

FRTGIR 707 Sy Srmat <

Year Plang of i India.

Indian

he Indian economy.

]
€stment.

Answer any two of the following questions

O MR Riepleat gh1e Beq ey o

(v

3x2=6
Write a note on Industrial Policy Re

10.

Briefly discuss the challenges India is facing in the context of
employment.

ISR 2ete SHeEs FIAH il WB&?@SW@I

What is economic reform ? Explain the need for economic reforms

1+5=6
i dia. g _
gllﬂiﬂlni\olﬁia FHE [T SiTeade fieT AT A@GTITe 61 5491 |

Outline the common developmental successes and failures of India

; 3+3=6
T?iﬁﬁ%mmmmﬁwwﬁmﬁw

er any one of the following :
o gt b m S o o ;
y What do you understand by agriculture rr}arketmg systerp.
Y Discuss government measures to improve agriculture marl;etémg
: L
%gt%%d%m i a7 eiveste R I 97 TTe TR aizd
DFIA AMCFATAZ NCEAD 51 | ‘
Analyse the concept of sustainable development. Also discuss ﬂj;
strategies for sustainable development. 444=

(ii)

(iii)

(iv)

8x1=8

(iv)

o solution, | TS LT S (T, Sl
@mmwﬁ%aw 1956?1'1"31?@&11%5‘61@%2“, 956, g GaEed ARENC R 41| =it
(ii) fBri_eﬂy discuss any one serious environmental Prop] <4l | e
acmg at present time. IO S = =
a@‘m:{g ‘ﬂ‘smg ol ﬂﬁﬁﬁ?{ AL e 2 €m India is (For Old Course Students in lieu of Project Works )
S WTCG"!’TIT{T- ) A ﬁ?ﬁ{ﬁq » ; i stions : S5x4=20
P RSB : N [/ I our of the following ques :
(i) Discuss the composition of Indj ¥ %{ngw%yﬁhffﬁ?f e B fial ¢
e i : blic debt
independence. rade on the ¢ (i Write a critical note on public debt.
7 o SiTe Syeite o © A CGRBl o1t |
BTN AFYZSS ST rnfi MG oty Saia] AT REE @ .
; y : 2 i for foreign currency.
(iv) f‘,xplam the role and importance of eduCation WTC?TTBHT 91 (ii) Discuss the Sourc%sgof demand 021]'wj | gn
. o (W BIPTE SIS
ormatlf)n. ) Umap capital X d as an index of country’s welfare ? Justify your
HTE ST oo frF SR o ey T 25 : (i) Can GDP be use _
Answer any two of the following questions - aﬁgvg_rﬁm' eI 1R A T SRR AR 2 Wﬁwwww
O WNEARS Ricwiz whi9 ©es ot ¢ Lo ;’1 |
(i)  Write a comparative note for Indig Ching : 0 an capital ? Discuss the sources of human capital.
f and pgy.. (iv) What is hum |
of aletan SN the b asis T B2 ST T4 9 54 @Qﬁﬂ%? SICEA <511
(@)  Demographic indicators . ite about India as a knowledge economy.
8, (v) Briefly wri 4 e st el
(b)  Human development indicatorsg R R L Mk IS ICS EE RERI6 . . ;
(@) GPRER sheE o - (vi) Discuss the circular flow of national mcomle in a simple economy.
(b) m@maﬁﬁmfﬁww,%%m G2 e SieIfe® SITE GE N SR SICEE 4
(Il eige 25 | % x
R
[6] ' [7]
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1. Answer the following ‘questions : (any twelve)

TS il 2P e ¢ (Rt ar)

(@)

(®)

©

(d)

(e)

()

()

34T EDUC

1x12=12

Fill in the blanks :

5T 12 7T T4

The (;hairman of Secondary Education Commis ston of 19

S5e3-¢o 59 M fpw TR 7 o 52-53 was

Secondary education system of Asgy
University since to 1948

In the state of

th '
La e first Opep University of India was
ndia wa

'@Wﬁﬁ?{ﬂﬁﬁg@m

A ir i
iII[fsence of direct contact between i %I

portant characteristic of Eteacher A tud
s o R _—\‘W ,,ﬁdu;aﬁ e

[RERIE R e S i
| AR
W@A : ——— R By g
: erman  biologist
Environmenta] Conscioum%im'foduced th
by GTeR 9. ¢ concept of
0 — TR Q& i ;
T TrEr e SRty ARG sigpeel
: q

The ; i
b tonaept. of Population E

merican sociologist Aucatiory as

(h),

(1)

()

(k)

(D

(n1)

(1)

(0)

(p)

34T EDUC

of the class intervals.

In a polygon, frequencies are plotted on

IZGT T FEICS AT NP T T[T 3 @o[e
Aol 91 27| :

Give short answer in one sentence :
G5t FTe GeT 731 £

In which year Krishna Kanta Handique State Open University was
established in Assam ?

@ 5T SEEE $% IS AMCE IS TE FRRmE Zem w1 w=iwEe

From which year twelve-year school education course has been

implemented in Assam ?

o 5 S SPEE SRR TR B el SkeT 9t

In which year National Policy for the Empowerment of Women was
adopted in India ?

@ 5T SReARS SREE AT B Al =0 T (=few 2

‘I earning is the modification of behaviour through experience and
training.”” Who said this statement ?

“Gimrel Tarz STUEel SIS ARFEET @il T9 SIbEeR ARG | @2
S (@I (e

Who propounded the theory of connectionism ?

e FRCANRIT O T8I (A SNifeeT ?

What is law of effect ?

o e A SRR Tife T @I

“Interest is latent attention, and attention is interest in action.” Who

said this statement ? p

e AP 1 SRE] S SRR el S SRR A @B
T bl 192

Write the formula for finding out mean by ‘assumed mean’ method.

e oY SO G e A At B

[3] Contd.



(a)

(b)

(©

(d)

(e)

)

(g)

(h)

(1)

()

(k)

)

(1)

34T EDUC

Answer any twelve of the following questions -

wore W3 Ricpiar 91951 o Twg T e

Mention two important impack of
Secondary Education of Assam.

SR SRR M FIORT S s
Bl

Write two importémces of Non-formal Education
SeISRRToT Free 707 &% 1 Al Sap |

Write two differences between For
Education. i

SITDIN B I oo R gios ol
Mention two needs of population educatiop,

TR R 707 SCATSIRT! T oy |

Write fwo needs and importance of Physica] educat
Cation,

9T B zﬁrmr@ﬁﬁww-@w@mwl
Write twq relatio%s between Mmaturation and Jegy
RSl wIF R e < mm@@qwl
Write fwo subjective factors of learning_

oo @ww@qmw%ﬁ%w@@qwl
What is habit memory ?

SIS Yo FRE @I 2

Write two mental causes of forgetting_ :

fegfon 76w e S =
What is voluntary or volitional atte
Ao A1 ToF© A T [@iga s
Write fwo characteristics of interest,

wllelRs 707 ey Brerl 4 |

Write any two objectives of mental health
AR FER Rz 75 Sty G 0
Write any two aims of mental hygiene,

NPT ADERE Rz 751 57 %‘mw,
[4]

Kothari Commission on the

70T SRR e Sy

mal Education and Non-formal

557"“%1%%@|

Ning

ntion ?

2x12=24

(n) What do you mean by measures of central tendency ?

(0)

(P el (el et [ ge e

Calculate mean and mode from the following data : 1+1=2
weto Rl SRR #91 91C S I e 51 ¢

30, 48, 56, 64, 78, 82, 60, 50, 56 and 46

3.  Answer any ten of the following questions : 4x70=40

oS Al fRiceiea 720l 2N Teq R 8

(a)

(b)

(c)

(d)

(e)
1)
l(g)
(h)
®
()

(k)

34T EDUC

Discuss four aims of Secondary Education recommended Igjz :
Mudaliar Commission.

A PR TR AIE JOICRI SR Sk 515 A
S(Ceibel ¢Sl »

Write four objectives of Open Education.

TG MR b6 Sl GrEd 4 |

Write four characteristics of Open University.

& FRRmeRE BIF6! @S S 1|

Discuss four principles of Environmental Education.

SRl iR 51R0) iR SITEDa <5 |

Discuss four characteristics of Trial and Error method of learning.
o5 il Be Nl ISR, SIRG) (AR S T |

Discuss four educational significance of learning by conditioning,
waeeE B PR S5 IR A1 Rriere SieAd Sitsmar 5 |
Discuss the marks of good memory. ;

e “gfeq TFPTER SETl T4 | |

Discuss any four characteristics of forgetting.

fgfeq el BIRG! NS TGl B |

Discuss any four objectives or external conditions of attention.
NAIRINE Reee! b1R0! RS A @D B ot w9
Discuss the educational significance of attention and interest.
REErRae NI S TSRS SFG WEs 31 |

Define the meaning of mental health and hygiene.

TP T O T FeiRs 99 e 4 |

[5] Contd.



() Discuss the role of school in promoting proper mental health of a
child.

4ft BT Soige TRER TEE KO MUERS SR S |

(m) What is histogram ? Draw a histogram from the folloWing
distribution table : (use graph pnper) 143=4
wIFefa T @ICE 2 e el ST SRS ~l Sty s < |
(@9 e TR PI)

Class Interval Frequency
(R RSIG) CISIEIO)
OO0 i o L sl 00 i 2
SOEROmLdetie 5 (8 sl L0 LI 4
ZOL 7008 S LT e L 6
BOZEIN ¥, MErhwenrd (e L T A 8
S5 e R S 12
A()ZAORSER A u e e 7
Seale e LI STl B UYL L oL 5
20029V, Bl S n o e 4
TG oo Q. LIS Y 2

N =50

(n) What is bar diagra
with examples.
me 71 S f5d T @0 ? TS o Kiew epmig 1+3=4
ABNE R
=i | W% Gt il

m ? Discuss the different o
types of bar
diagram

4.  Answer any four of the following questions -
were Tl Repiear bifeor e Oed firl ¢ 6x4=24

(1) Discuss the suggestions of Kothari COmmis
structure and standard of education syster, ; i I810 egarding the
SRS R R AR T TG ooy @*ﬁn%
T DAl <541 | S Sypsparp
(b) Discuss the suggestions forwarded b
1986’ regarding Secondary Education.
VGRS Rl TS Spv T TR RSy 3
SICED 4l | N sz

[6]

Y ‘Nati
Onal ducation Policy-

34T EDUC

©

(d)

(e)

(N

34T EDUC

What do you mean by Value Education ? Discuss the need and
importance of Value Education in present social circumstances.
2+4=6

e R 3 o q@rvmmm@wﬁf%ﬁ—mmaw'
SRS S <5 S <1

What do you mean by woman empowerment ? Discuss the role of
education in women empowerment. D+ 4=6

WW@W%{@?WW&W%W
e 4 |

What do you mean by insightful method of learning ? Discuss the
educational significance of insightful method of learning. 2+4=6

o @ AT A O 7 T P S st e
SiesdE Facd SeEnal 1 |

What is median ? Compute median from the following distriBution

table : 156
S I @fEr? ere Al Feiem siffmm s« S Fefw w1 2
Class Interval Frequency
(CH& STFAIET) (IR
e e ST R 2
A Sro il S RE A o 4
o BN ) R 5
P R O Y R 7
BO=G ks S R e 10
I1G R S S SRS BN Sl O 12
G100 s o ML RO S RO 8
AB=AG RN\ G R e L e 5
SO o A e 3
O T T 2
M= TAR B b A e DT A 2
N =60
X
[7]
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34T POSC 12

PART-A / §-wgm
(Contemporary World Po litics )
( TP 194 reeife )
Answer any six from the i ‘
il gmgw @;%H%ng cgluestmns s
(@) When India did economic reforms ?
SIRTS AT FH T b T2
(b) What is the name of the Ccommon curren
3@@1% A TR @l I e
(c) Writi any one threat to human security;
S FRIPTSN @fS Fra Ten e 5} Ty |
(d) What is the full form of SAARC ?
IR STl eich] |
(¢) Which day is celebrated as the Wi
et~ @t ol wifRey S Sl

() Which Earth Summit made ton
World Politics ?
(PN 7 e AR #1fRE Sy
s w22 Bl e TS ooy

9 Rt

1x6=6

<Y of Buropeap, Union ?

rld

Envirg
» Nme
2 " Rev

(9) When was ASEAN Regional Forym

Lol —~ €stabl;
(FI DO IR BNLFRE T2 o197 oy e lisheq o

(h) How many countries signed the UN ¢
0T TS G wre Frmiere a3

(i)  When was the United Nation A

AERe sfont afed tafem .

() China adopted an ‘Open Door p
b T 7am e’ ez ) oy I Wy

Answ?r any five from the following questio‘ "ﬁfm

CeTd SR I “A5bT o Seq frye g il

harter
When :
i e It wag formed ?
S Organisation (U.N.g ) e
) SStablisheq ?
olicy’, Write es
S (9 no,

(a) Who was the first Secreta
Head-quarters of U.N.O. ?

GRS s Fba 4 @ wfers AT

ry-Generg] of
U.N 0
0,7

igl?[ 'i]‘:'rj ;T_.z'

(b)
(c)
(d)

(e)

Or / 92<
Name fwo NGOs which are concerned with the Protection of
Human Rights all over the world.

e [Reico ST SRR 5S04 701 ([5IFIS1 FL010 1 o7l |
Write two differences between migrants and refugeés.
LAGEFIN] Sl 2T G 70 AL T

Which two countries sigﬁed Farakka Treaty ?

I 73 T2 TIF e JrHe TR ?

What do you mean by environment awarness ?

sifsicem) FAGiatl Ao & 2

Name any two member-states of ASEAN.

wnfeaeE R 734 A9 g T B

Write the name-of two countries which emerged after Soviet

disintegration.

(RIfSrEs TR SIeRR foze AR @[l 7397 T 3% 1 Fis

Or / 9441
What is meant by Second World ?
fasta el e ‘
3. Answer any three from the following questions : 4x3=12
e exrmza Rl oD e Teq &l 2
(a) Discuss the effects of globalisation in underdeveloped nations.
() What is meant by ‘Global Commons’? Suggest two steps for
protection of Global Commons.
B AR T R 76 gete Reele SEROR TN AE by
ol SIISECETl | : _
Or / g/
Discuss the causes of environmental pollution.
SifEa e FIEPRR SETHAl T4
(c) What are the functions of Security Council ?
Eraiofal HAfqava SR 6 (e
(d) Explain the causes for the disintegration of Soviet Union.
EIfSED BEMET S5 FEPTE A 4 |
S4T POSC 131 Contd.



(e) Discuss briefly about the com
India.

Ciged fRivel @m@ﬂmﬁmmww,

Answer any two from the following questions -

RIS eeizs Rz 7579 Seg ) o

(@) Discuss the importance and relevan
bIFT ¢FY S elFAESl S |

Or / g5t

Write a no’EE: on India~Pak/istan relationship_
WWWWWGW@%@@%QH

(b) What are the mai? Eillars of ASEAN » Discusg elab :
SRS T T <25 5 s ﬁ““r‘”@wa‘ﬂww| aborately.

(¢) Discuss China’s role in World Politicg.

e oS 51 SRt Sieiom; <y
PART—B / - rw)

(Politics in India Since Indepenge,,
Ce
( Fdiies srae NS ) :
Answer any six from the following questj -
3 23 ons :
RIS PR -1 Az g o S Bt o . 1x6=6

(@) Name a major project that wa

ponents of the Security strategy of

6x2=12

ce of SAARC.

) included in the

U AR AR ouse @y T2¢ ! e e
(b} In which year, era of coalitig 5 s

) I govel‘nmen
mmwmmwgﬂwmp

(c) At present which institution
Commission of India ? hias replaced t
SIS R Saisla T (P! e o

(d) Which party led National Democratic '

' CPITCO! Mo 9181 slereife g elfofifig

(e) Under which government Manda] Commjg.:

4 SRR Fos spesmt e . L Missigy,
(P DI freo et wiicaiel apym S @Rea. | 2 appointed ?

i which year Nagaland state was Createq
(IR DO AMewte ey 7R Cafies !

he Planning

COle|
; 20 9
Alliance 2 h’i

e

34T POSC [4]

Simla Agreement was signed between India and !
i ; (Fill in the blank)

Bl pfe FrERe (2 oS O F Siee | (1571 A2 279 1)
(h) In which year, internal emergency was declared for the first time

in India ?

(P BS LLERRT T SO0 AT GF41 SZ (N 91 (2%e 2
() In which yeai‘ State Reorganisation Commission was formed ?

I b SIGy “olon SISl Sion 5 (2fRei 2

() Name the Agreement signed between Lal Bahadur Shastri and
General Ayub Khan in 1966.

1066 5 GIERIRITE *IHEl Sl (SR SIZK AR Te® (271 Bie<me 95 B |
2x5=10

Answer any five from the following questions :
weTe ZHTEd “i9l RePleal 2livor ek Bes ik ¢
(a) Write a short note on ‘Privy Purses’.
I A9 e79e Ao 5 CGe 14 |
(b) Mention two causes for the rise of communalism.
AremiReel ©Gd (Al 767 FIRe =11l |
(c) What is ‘Grand Alliance’ in the context of Indian politics ?
(d) Write two features of New Economic Policy.
aroet o A 751 CRTE

(e) When was the Election Commission of India formed ? Who was
the first Chief Election Commissioner ?

w4 b SIcEll @ hew siod 4 (afet 2 aw‘sﬁﬁﬁﬁ?ﬂ% o
Or / @241

Mention any two ideologies of Bharatiya Jana Sangha.

Slgely Geicad oT Se B 1 |

(/i Mention two solutions of the problem of regionalism.

wesfEFmetaTd Sl AT 757 SR e |
Or / J3q1

Write fwo causes of the emergence of regionalism.

wefieoram Sesifed 7l T |



34T POSC

Answer any three from the following questions -

MRS emprRs R oo exe Teg B

(@) Discuss the role of opposition party in India.
SReS RS v B! SIcebal 4 | |

(b) Why did the leaders of Freedom Movement have gi :
on the principle of secularism ? Siven importance

SO FITO! FRANT FTOPRCeT [ Lfiaterreiy Sifes

Or / &g+t
Explain the consequences of partition of Indig
SRS [Meiaeq Aoz i | '
(c) Discuss the causes of the defeat of Qg
1977 B8 2R ARATO R Peemg

(d) Explain briefly the domi f ke
xplain briefly the dominance of Congreg 5 Bl
general elections. STESs Party in the first three

2 fofiEl wAlaiel fFeibee TR wom oifefe;
Or / g4t

Explain the challenges that India

FEToR P10 SRS T @ @

; s ) R I =y
(e} What were the British Indian states ? Hoy
Princely states ?

o= SRS @0 IRTE 75 9 2 o T
Or /ae  TY R Aef r enfn
What are the main principles of India’s fore; :
SRS [ iiod 35 T f feg 81 policy »
Answer any two from the following quest; _
FUSTRRS eporgze a1 iz 73 2 S ey s
(a) Discuss the main controversies around
the early years of India’s inde
Sl 54 |
(b) Discuss India’s relation with ne;
b9 DTN FPH Tl SITTT T
(c) Discuss the principles and challen

4x3=12

Ngress in 1977

BT@SWWW!

faced after independence-

did they differ from

6x2=12

P
pendence. B ed development in

P51 {2

tri
3 w l eS.

Bt ¥
of country. A e With the artition
| feten eifare wfve Tifs wike GheToms i

2
Or /wag T
What ig planning ? What are its roje on
AR 57 Srvgere 3AE SECIREE “Yelopmeny:

[6]

ST w3y ffeeT?

9

10.

34T POSC

PART-C / 9 - =i
[For Old Course Students in lieu of Project Works |

Answer any two from the following questions : 5x2=10

fr=fie axrEa R 75! 2 Oed ol ¢
(a) Briefly describe the goals of New International Economic Order.
o SEAIEI LA TZE TE HYCE el <1 |
Or / W?{H]‘ '
Write briefly about Non-Aligned Movement.
ISR SienEed [ By Sl 41 |
(b) What are the different types of hegemony ? Give example of each
of them.
wifHefoR Fien dRER © 2 4o Snizsd Al |
(c) Discuss briefly the consequences of Globalisation.
Rl #AfRafeTER b Sl <1 |
Or / 9241

Do you think that United Nations Organisation (UNO) is a perfect
international organisation ? Give reasons. :

QE7E b1 A6 SITAIBIH Ao Jhe1 Wil Srie 2 el wexffan |

Answer any two from the following questions :

FfERe exprRa 719 9 Riceica 7oy 2 ©es =14 ¢

(@) Why did the Narmada Bachao Andolan oppose the dam project
in the Narmada valle}’? A i _
il <le ST R T Soioree A dEE REidel R o

(b) What is Hung Parliament ? Discuss the current political situations
of India and frequent cases of Hung Parliament. _
ST oW 7 OO AT FEO CE @Al ST Aowm R
EEESIGI RIS ;

Sx2=10

Or / 941
Discuss the importance of regional parties in coalition government.
6! parEe WEERs ATEHOT TEPRRT S T Oitasa; g0 |
(c) Explain briefly the politics and programme of Bharatiya Janata
Party. g 4
SHE Tel A GG S SIOD] BUCT W w1y
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: (any twelve)

oo WAl eTRe Oes frdl ¢ ( Riemen 9196 )

1. Answer the following questions 1x12=12

(i) Where was the Indus Valley Civilization discovered first ?
g TAeR erel AUt TS Sifgs tafa

(W) Who authored the book, “The Story of Indiaﬁ Archaeofogy”p

“The Story of Indian Archaeology” % 9;[?5]?]:@ GRS & 2

(i) Which Greek traveller visited the court
of Chandragupta
Mauryan ? 5

e T TR wed (TR SIEPTStE wffRers

(iv) Which famous Indian writer wrote the short gt
Story,

Nishadi” ? ek
ﬁmwﬁﬁww@aﬁw‘ﬁ@ﬁﬂﬁ’amﬁmﬁw y
(v) Where did the Ahoms first establish their S 2T ¢
SICPRECE (A AT (SETER AR s Zlo ﬁﬁ%‘p
(vt) In which year Mir Jumla invaded Assam » |
(T 58 @iz o el e -
(viij) Which traveller is known as the Birg leaves
FEE A BRI SR 6 ) i
(viii) Name one dynasty that ruled the Vijaynagar T
Mpire

fAERRIITS PR 91 bl SR T gy

34T HIST L2l

(ix) Who led the Bhakti Movement in Assam ?

SPTS Sfe SItMERe ofF @IE gfRkfeT e

(x) What is Jins-i-Kamil’?
Rzl e

(xi) In which year was the Battle of Plassey fought ?.
) B S Ta (2T ?

(i) Who was the first martyr of the Revolt of 1857 2
o 5o RCwied elee W2 (o SR

(xiii) Who was the Viceroy of India at the time of India’s
Independence ?

FITTOR AO ©ITeT OS5y (i Sifes 2
(dv) Which was the commercial capital of British India ?
BANENT Sled TP (T 6 WiifeeT 2

(xv) In which year was the capital of India shifted from Kolkata to
Delhi ?

(I B ST G| Iwirels #Aal i e 9 =70

2.  Answer the following questions in brief : (any twelve) 2x12-24
weTe e b9 ©ed il 8 ( Rieser 196! )
(i) Name two types of marriage.
s 7! eieiEa = B |
34T HIST [3]
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(it)
(iii)
(i)

(v)

vy

(vii)

(vii) What were the two types of farmers ip the
s uetha)

(ix)

()

34T HIST

Name two elaborate sacrifices.

75! ARRE TGS A

Mention any two political centrés of the Maﬁryan Empire.
G ARG [P 737 27 S o @mwﬁm

Name two posts created by Swargadeo Pratap Singha.
20T 2ol TR 748 T 757 R ey

Name two Peasant Uprisings of Assam dyp
. n

! g the British
period.

SARERRE =[P e P cay @W%WW%
A
Give two characteristics of the Writings of Alb
€runj.
SIeTESAE B 767 ey B

Name two famous Sufi saints.

7 RS bRt 7% =i fa7 |

period ?
T Y5IH FITIRETE (I 75/ Slsfw ST Cefiers

Name two biographies written during fhe M
Ugha] i
Period.

RIE I &3S &gl G iR ﬁ-‘iﬁli |
‘Kitab-ul-Hind’ was written n whij
ch lang,
. a

8¢ g
chapters were there ? 0d hoy many

ﬁ@m—%ﬂ—%ﬁ’ﬁfwwwtﬁ%mm .
G (W- = Q:I&U-m

[4] il

(xi) Mention two Colonial architectural styles seen in Bombay city.

T TGRS HRRTE (AR T SRR Birree S <5

(xit) Mention two social reforms introduced by the British in Indié

before the Revolt of 1857.

Sb-e4 5 RS 7t o0 OO e =1 757 ATIS=s Fei=s 715
Trzd 39 | '

(xiii) When was the Second Round Table Conference held ? Who

represented the Indian National Congress there ?

o ARl (TG (HoAl (/e ? SIRoR SISl e (e Ao o
afeffae wREe?

(xiv) Give two effects of American Civil War on cotton cultivation.

| el (AT esiTe SIS A2 (AR 757 2SN R B

(xv) Write any two programmes of the Non-Cooperation Movement.

3. Answer the following questions :

wpTGAls] SRR R 75 SEep |

(any ten) 4x10=40

weTe fral erTRd Oed [l & (Rieplear w2br)

(i)

(i)

34T HIST

Discuss the causes of downfall of the Harappan Civilization.
gl HSrold Aod FIIFTER ST 4 |
Write a note on the sources of the history of the Mauryans.

TR ORI FEPERT Raes «f6 (ol e

[5] ‘ Contd.



(i) Discuss how and why the stupas were built
BARR (G O [ e <=1t , SIS < |
(iv) Discuss briefly the early British Uprisings of Ag
sam.
SPTS . (RAl AAEAN Jfow Mo ﬁrar@ﬁms@amw,
(v) Write a brief note on the reign §f S
_ Yhungmung Dipine: i
. g Dihingia Raja
g@ag@ﬁfi@mww\awﬁmﬂ%wmm'
\ I
(vi) Discuss about Alberuni’s descripgio-. -
) ption of ; ;
€aste system of India

WWWMW%WW%N/W
9 |

(vi)) Discuss about the Bhakti Movementg

‘ |
Nayanars. e o °d by the Alvars and
ETE S T T (ToTo Cm@f@wmﬁam
{ SNtSA5a <41 |
(viti) How was land classified under Emperqr A i
revenue assessed ? - Kbar » How was 1and
FHI R =7 TS i T Fores R e
N A el ) el g e g oo
(ix) Describe the process of Manuscript Prod
0 Uctj
ourt . i G Mughal
G WSS A el s TS
IR
(x) Discuss the causes of failure of the
ey
olt of 155,

S 5 ftaes feeror QTHCM:RWW
‘ Sl

34T HIST [6]

(xt) Discuss the contribution of Mahatma Gandhi towards the

Freedom Struggle of India. :
SO FIFO! FENTS TR SR ORMI TI0F SN <41 |

(xii) What do you mean by oral sources ? Discuss the limitations

of oral sources.
TR 5 IR & 9812 GRS e TTRES! S| 3 |

(xiii) Mention the arguments raised by some members in the
debates of Constituent Assembly against seperate electorate

system.

7j2 ffon <ER AT R TR Redo Fgain 7072 & & e
SRR SrEd 4 |

Read the following passages carefully and answer the questions

below : 6x3=18

WWW%W%WWW%QH

(@) “The most important idea in Jainism is that the entire world
is animated : even stones, rocks and water have life. Non-
injury to living beings, especially to humans, animals, plants
and insects is central to Jaina philosophy. In fact the principle
ahimsa, emphasized within Jainism, has left its mark on
Indian thinking as a whole. According to Jaina teachings, the
cycle of birth and rebirth is shaped through Karma.
Asceticism and penance are required to free oneself from the

cycle of Karma. This can be achieved only by renouncing the

34T HIST [7] Contd.



34T HIST

world; therefore, monastic existence is g necessary condition

of salvation. Jaina monks and nuns took five vowsg - to abstain
from killing, stealing and lying, to observe celibacy; and to
abstain from possessing property.” ‘

(i) What. is the most important idea in Jainiém )
(ii) Mention two vows taken by Jaina monks ang '
na nuns.

2

(1) How Karma and salvation are
_ related tq (57
ch other? 3

“Ted [ T ARell G, 7Tl RARGTR e, i A1, 2l

SIDIRG 2l S0 Vs A, =18, Ofiw, (o RAN Wi
w%ww%wmﬁmmWW.
w@mﬁﬁammwﬁmm@%@

WQWWE%WWMWWWWWQEWLW
aﬁaﬁaa’ﬁﬁwa@ﬂmﬁaﬂﬁammﬁaﬁqﬁw n-&wizuera@ﬁ
S 3, R 2B o gy o T

s e Ei !

(._'] (:as a S 1'§ ¢§ ZSQH
L, S AT 4 ™G T o e s s L
|”

R e AT
TS, T 4 ool

(i) e wfg «iel o

s iy =0
%W/ﬁ@ ? ]

-

(i) T @ FRel w11 T e Ao

[8]

(b) Krishnadeva Raya, the most famous. ruler of Vijaynagar, composed

a work on state-craft known as the Amuktamalyada. About the
traders he wrote—

“A king should improve the harbours of his country and so
encourage its commerce that horses, elephants, precious gems,
sandalwood, pearls and other articles are freely imported...He

‘should arrange that the foreign sailors who land in his country on

account of storms,. illness. and exhaustion are looked after in a
suitable manner...Make the merchants of distant foreign countries
who import elephants and good horses be attached to yourself by
providing them with daily audience, presents and allowing decent
profits. Then those articles will never go to your enemies.”

(i) Who was the famous king of Vijayanagar ? Name his work.
1+1=2
(ii) How - and why should the king interested in encouraging

trade ? ‘ 2+2=4

Fogmem ATEA (0 6, FECEE (069 SHGATA AW aigiTS
QTR A MG SR SRE— “IEIR (¥ I SRS e =151
e | aiftiers Qe SRS [T Al S (T, S, TR T, 5 i,
04, e S S T8 SR ST SR A | R, @ SRl S1ghe
oS S (Al S T AR R e M @ fifere 29w,
(ST FaE I OO A B FS ST A GEME HIF Blow R
AT | < e G2 TR (FTANS (SR G oS T

() FomeeEs (X¥ TEEH (@FH? (969 Agw I el | 1+1=2
(i) i3 EEE wE [ R e Tz [T wict e 24+9=4

34T HIST [9] Contd.



() What maps reveal and conceal :

The development of survey methods, accurate
instruments and British imperial needs mea
prepared with great care. The Survey of Indig
1878. While the maps that were prepared
_information, they also reflect the bias of the By
settlements ‘of the poor in towns went Unmarked

Y 0N maps because
they seemed unimportant to the rulers. As g Ee St ons e Sy med
S

available for other
°re undertaken, the

scientific
nt that maps here
was established in
give us a lot of
itish rulers. Large

that these blank spaces on the map were

development schemes. When these schemes w

poor were evicted ? '

(i) When

(ii) To which source do the SUrvey reportg ani
m

(i) How do the maps prepared by the
biasness ?

TR & R o & i ¢

SN 2o e, ﬁzﬁ?ta@rﬁasm_m@mmm
Q'W@%W mw%{mwﬁﬁw fafest
wfewi TR 1878 41 & Fo! ows <y S St ey ol

\ﬂ 2 —ol{-
”%WWW“W@Wme@m@wW
i I

O YR

Rl PRt s G2 i T e 2 W\Tﬁ%\\g =l ez
W@Wﬁ?ﬁmﬁmﬁww ! S R ) of

L . B =
2 | Cﬂ%qrs@ﬁﬁ.mﬂwmsﬁm@m% R Az o ol
LA
©71 T 591 (afe | ik

54T HIST [10]

34T HIST

() oFoe TuF el @[l Zom w4 (2T ? | 1
(i) TRl AfEmE W TR & TR S ? 1

(iii) R 4T T AFDARIE (FETE (SEETRT sFrlifey afowiere T2 4
111 : i

Draw a map of India and place capitals of any three states. 2:8=6

Sieada @ (7l S e o Ies el T2e |

Or/ ¥4

How did the annexation of Oudh to the British Empire affects the Taluqdars

6
there ? |
SR SR 0 ATICTS BIRETRLA ©TO AT Tl SR (AT F0aE
e ?
X
[11]
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Q. No.

. No.
No.
No.
No.
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No.
No.
No.
No.
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No.
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No.
No.
No.
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PART-I
For New Course :
O~ Ne¥ Irartiescliniariceacioe s il SR SO oo 1x4 = 4
Q. No. 2 carries 2 marks each ........ S R L e LD RS =
Q. No. 3 carries 3 marks each (IR Loy W TR X, 3x2= @
Q. No. 4 carries 6 marks each @ny four) ... 64 = 24
Total = 40
PART-II
For New Course
Qe iNo B Carries Linsirkaaelt Rl 15 U8 S i S vt Al 1x4 = 4
Q. No. 6 carries 2 marks eaclt (any three) .......cccoeereeene. 2x3 = ¢
Q. No. 7 carries 3 marks each (any &wo)......ccccevvinnien. 3%2 = 6
Q. No. 8 carries 6 marks eaclt (any four) .......ccoocoveucrece, 6x4 = 24
Total = 40
PART-III
For Old Course (in lieu of Project Works)
Q. No. 9 carries 4 marks each (any five) ......................... 4x5 = 20
Total = 20
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|
PART-I ][ (c) In which year coal was discovered in Assam ?

( Geography ) : | SPTS (I BS el SREE (2R 2
[ Total Marks :.40 ] |
! i , : ! ) . 1865
Find out the correct answer from the following questio dl (i)
ions :

Wm@%mm@m@mg : : 1 Srbe

(@)  As per 2011 Census, the literacy rate of Assam ; i (1) 1857
is
QOBBW@WWWWWW 1 Sreq
: . SR |
i)  742% | @Gii) 1700
A
Q8.9 I 5900
(i) 73.3% ‘r
i : (iv) 1847
99.9% |
1 : | S84
(i11) 70.8% |
| A
20.5% ‘ (d) Recent land-sat-imagery has proved that the percentage of forest
(U7 2229% : ‘ ? cover in Assam is
93.3% | Toleed oAl Ui O SEPIR SRR g JI8 | XTSI |
(b) What is the type of climate in Assam ? | (i) 17%
C ! | 1 o
ST GERE (I 2R 2 | %
4%
(i) Wet sub-Tropical -
] ol a O
(i) Tropical ‘ | i
IR _ : - (i) 21%
(iii) Arid | 3%
& (iv) 37%
(iv) Hot and Humid 99 Y%

R [31] Contd.
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S}

Answer the following questions in short : 9x3=6 | 4.  Answer the following questions : (any four) | 6x4=24 -
OO SRS By T g | oI 2@ ©es fdll ¢ (Rl bifaot) -
(i)  Write two major physiographic divisions of Ass | : ' l (i) Discuss the influence of Monsoon wind on the economy of Assam.
am. : : :
SRR 70 24 2o wite [ e - | SpTE SERIe® GIpN] T9IZE deRR REwm 90 4 |
(i) What is skill development ? ' (i) What are the problems and prospects of migration in Assam ?
e R 2 R i AT .
(iti) Mention fwo causes of water ?Ollution (iii) Define sustainable development. Explain the . sustainable
' development goals in details.
oMl SRR 7O Blsel Srae |
e Y e GaEed Tk [l | R CHEe SR RAE 9 <511
3. Answer any two of the following questions e (iv) Explain how Geographical Information System (GIS) helps in
\ ort : :
3 :6 : .
S frpizal oI 2%F B3 Tes e ‘ , 3x2=08 Geographical study. )
: | STl ©2 TER SUIE SRS R R T I 44
(i)  Write three causes of migration,.
% o 2 te on the Bell and Brass-Metal industry of Assam.
CEGeE foler TR Fe | | (v) Write a note y I
{ 1 S Fi% o foreet R acy 9ol G &7
(ii) What is surveying ? }
! ! e jection into different types and explain any one of
\ (vi) Classify map Projec U
? ‘ ;
Gl ; them in details.
(iii) What are the types of map scale ? | wea SferEFe® T SR SIE R 9o/F [AC 2578 39091 3541 |
b | '
sl | (vii) Write a note on the need of conservation of biodiversity and explain

: ; wcont status of biodiversity of Assam. -
(iv) Write a note on Red soil of Assam the presen

CerdtalEa I SO R b1 (Bl Tl Wi St

!
Jr
\ofv]e & 3 ) ! ‘ T
ST F61 S s 9Bt (Bt sy | i g R o ==
|
|

34T SWAD | [4] [5] Contd.
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PART-II
( History )
[ Total Marks : 40 ]

(© Use of ‘Roh’—
2T JRE I [ —

5. Find out the correct answers from the f0110wing 2 | ; () Wood gum

MRS 2Mtr w5 Ted A% Shes ¢ 1x4=4 U 51z o]

(@ Which of the following environmenta] movem . '
against destruction of Tropical €vergreen f, W e

|
Orest ? ‘ : _
wmﬁﬁmﬁawmﬁw@mﬁmw | o SR S e

(i) Water purifier

Cidfeete ' O R ol | } i) Production of Lac
(i) Chipko M . i |
) pko ovement ; : o (OFF 99
oG =T .
(W) Silent Valley Moveme o e _ (iv) Preparation of Gunpowder
T SASS! SIcTE A (ORI FI©
(iii) Appiko Movement | _
P @i : : | (d) In which year Phulaguri revolt took place ?
(iv) Bishnoi Movement ool Moz (P b 2= ?
(@) 1947
(b) From where Arunodoi was published 7 e
OISAME T A 2R Cafee 2 i
(1)  Sivsagar (i) 1861
eisr ‘ SHLS
(i) Guwahati
At (i) 1857
(ir) Kolkata ' | | 2B
Ferprel . | (iv) 1950
(iv) Tezpur
S8€k0

(Ogog

34T SWAD [6] 34T SWAD [ ?1 Contd.



6.  Answer the following questions in short : (an y thrée)
O W b O il ¢ (R o)
(i) Who was Gomdhar Konwar ?

CINEE (PRI & s 2

(i) What is Tribal Belt ?
TGO (€55 {52

(iii) What is Inner Line ?

TR M 7o

(iv) Classify land into different types
o< fien e e o

7. Answer any two of the followmo

T eIl 701 29 53 Sed fayep

& questions i, short

()  Explain the provisions of the Treaty of
: )

Z Yan
TS AT SO F0 79 i

(ii) Write a note on Paik System,

N AR @ 9Bt B ey

(iif) Discuss the changes initiated by Brig I
1S A rul

afs *ve Emite (LR iR % in Assam.
= \‘S(h

(iv) Write a note on Tea ]ndustry oRlAg 5=y T |
m, ‘
SPTAS BIZ Sois K&t @bl (G it

34T SWAD _ [8]

%36 8.  Answer the following questions : (any four) 6x4=24
— - ! .
oo RARE ©ed WAl ¢ (R oifes)
(i) Write a note on Non-co-operation Movement.
SRl SICHIETTE [REC @Bl CBIpl feait|
(ii)r Discuss the causes and impact of Environmental changes in Assam
| after 1947.
S$84 mvfﬁw—wqﬁmﬁ% ﬁﬁa—r@imﬁwmﬁﬂm
ST Sl
’ (ii) Write a note on the beginning of Petroleum Industry in Assam.
| o (G SOR SIRSER R < i
| (iv) Discuss the historical background of migration of the East Bengal
; B farmers to Assam.
2=6"4
3x2= i 71 oI IR eEA ORI e S 4 |
‘ ©) Explaif‘ in details about the Quit India Movement in Assam.
| (@)
!

© S Gl SCEERE REE T=EiR 9 1

| : R _
| (vi) Write about the silkworm rearing and spinning and weaving of
|

|

@[0! 5E e o

4 (vii) Explain the causes and consequences of Peasant Uprising at
‘ vi) BX

Phulagufi-
gﬁpﬁammmquﬁc%ﬁﬂmaﬁW|

[9] : Contd.
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PART-III
( For Old Course Students in lie‘zu of Project Works)

[ Total Marks - 20 ]

9. Answer the following questions : (any five)

e

(a)

(b)

(©

(d)

(e)

34T SWAD

‘ 4x5=20
WPTRS O il ¢ (Rt shsy)

Explain, why Majuli island is gq 'important

TG Al T 2T wepgeje, IR0 w44

entering India.

W@WWWW@@?%ﬂ%QﬁtWQWW
[ M|

Explain the concept of remote Sensing ap,

d itS u
studies.

*¢ I geographical

TS IE@WHS GIF9NTh] g4 9 =i Ol W%
ARG %
State five causes o_f low den-sity of Popula

%ﬁmﬁﬁﬁ'

f:IVOH il'l fhe hﬂly

Assam.

S ARSI GRS Gaami

districts of

%@T%%

Write briefly on the backgroung of the T
: Teq
A A el faw 53t fipy

IR iy

Of Yandab()o.

[10]

()

(g)

()

34T SWAD

Give a brief description on the land policy of Ahoms in Assam.

RIS TR iAINes <Ol 53 Srey |

Discuss briefly the importance of Bamboo and Cane craft in Assam.

SpTS AE-Eed N S A ST e 39

Explain the role of women in the freedom movement in Assam.
C

S FITTO! SIS IS Pfe <A <5 |

[11]
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MULTIMEDIA AND WEB TECHNOLOGY
(Theory)

Full Marks : 70

Pass Marks : 21
Time : Three hours

;oures in the margin indicate full marks
The figur for the questions.

Q. No. 1 carries 1 ATk CACH ovvvsverisesssssssisssssscssssisssnmnnnnnen 18 = 8
Q. Nos. 2 carries 2 MATkS EACH vvvesseisenssssssssscsssssins 2x10 = 20
Q. Nos. 3 carries 3 HATKS BACH covsirisssessnssssssssssanenssscnne 3x9 = 27
5 L ries marks QUCH oveveveseermmssssnsssissssssssnsasessssns 5%x3 = 15

Total = 70

Contd.



1. Answer the questions : =
4 1x8=8 (b) Describe the usages of Timeline.

Ted WAl o b
RpTes Ted Timeline IRER A=ACE 1 |

(a) What is keyframe ?
() Name any two types of Tweening in Flash.

Keyframe {&?
Flash-© 23! R 794 Tweening= I feran

(b) What is IP address ?
(d) Write briefly about subnet mask.

IP address 2
Subnet mask= FEE pac ol

(c) What is meant by a frame in the movie ?
(e) Write, how to rename a column in MS-Access ?

Movie @¥=¥ frame T = 3=ie
MS—Access-© column 5] (@IS rename FI A2

(d) Write the name of one web server software.
() Differenciate between JPEG and GIF file extensions.
JPEG W% GIF Tz oo sy (el

(g) Describe the use of stored procedure.

q5f web-server software=< a1t feral |
(e) What is alternate key ?

Alternate key e
() What is relational database ? Stored Procedure-3 I3 ST e fordl |

(h) Write how to set a primary key of a table in MS-Access.

Relational database =2
MS-Access-8 ¥ (GF primary key @ TRCAEH P Al

(g) Write the full form of PNG.
(i) Write the steps to insert and delete a frame in a timeline.

PNG- 7= <eieot e
Timeline-$ «ol frame @S IR S AR R ofifF o

(h) What is the task of request object in ASP ?
() Describe the use of senior object in ASP.

ASP-S request object™ 3 52
nior object-S aE TG

9. Answer the following questions briefly : ASP-A s€
2x10= . g e
oo 2P 53 Tl a8 g =20 3. Answer the following questions : 3xQ=07
oo i T O 2

(@) What are the advantages of Cookies over Session 4
ject P

4 ; s hree
Session object o5& Cookies= R & e (a) State t
Layer tﬂﬁ G“Cﬂ‘” i ¥ l

methods of deleting a layer.

2
347 MEWE L) (3] Contd,
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(b) Describe the following terms: (any three) (h) Describe how Firewall works.

O] AnReTe it 51 8 (Riciear fofbr) Firewall<d (S I I3 39041 41 |
Al S Tremtter () Describe the usages of the following three conversion
(i) Motion Tweening fnctionss
(iii) Framebuffer CBooli{(), fCBye NSt
il et weto 3l conversion function o5/ IR F=AGE foal ¢
(c) Describe the usage of the following three logical OBeAtey s - CBool (), CByte (), Clnt
AT o it 4. Answer the following questions : 5%x3=15
wets Al logical operator fS/AGIT Rawa < <y o o il ST Ted fordl 2

AND, OR, NOT (a) Write short notes on GSM and CDMA.

(d) Describe the main features of IPv6. GSM 9II¥: CDMA-3 RI@ 53 CGI feri |

IPv6-3 o1 [T aesR 30t <o | (b) Illustrate various ASP components like Ad Rotator, Content
(e) Differentiate between publishing and eXportin ' Rotator etc.
movie. & of a Flash Ad Rotator, Content Rotator Sfvg ol {fe¥ ASP component

) b AR I <
Flash movie 93«9 publishing < exportin
8 T TS sitefey;
e |

) : P blishi A
() Describe how IF...THEN.. ELSE L (©) Describe the formats available for publishing a Flash movie.
statements are used in ASP. #CT....cASE Flash movie @< publish 19 A 21 [fST format TR I 1 |

ASP-% IF...THEN...ELSE W% SELECT

--CASE
(20! (FCEIE JIYT B9 W 3641 /1 | Statements
(g9) Explain the concept of foreign key with th X
example. € help of an
@Bl TR FYTS foreign key-3 RETH =T ey
34T MLWT [4] (A
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